
POS PART # PART NAME QTY
1 KD120222009 ACE ROAD STEM 70 MM WITH SCREWS 2XM5X18 1

2 KD120222010 ACE ROAD STEM 80 MM WITH SCREWS 2XM5X18 1

3 KD120222011 ACE ROAD STEM 90 MM WITH SCREWS 2XM5X18 1

4 KD120222012 ACE ROAD STEM 100 MM WITH SCREWS 2XM5X18 1

5 KD120222013 ACE ROAD STEM 110 MM WITH SCREWS 2XM5X18 1

6 KD120222014 ACE ROAD STEM 120 MM WITH SCREWS 2XM5X18 1

7 KD120422026 REARCOVER + AHEAD CAP + SCREW M6X35, COUNTERSINK 1

8 KD120422024 SPACER SET 5 MM 2

9 KD120422025 SPACER SET 10 MM 2

10 KD120222018 CABLE HOLDER FOR ACE STEM 70 MM WITH SCREW M4X12 1

11 KD120222019 CABLE HOLDER FOR ACE STEM 80 MM WITH SCREW M4X12 1

12 KD120222020 CABLE HOLDER FOR ACE STEM 90 MM WITH SCREW M4X12 1

13 KD120222021 CABLE HOLDER FOR ACE STEM 100 MM WITH SCREW M4X12 1

14 KD120222022 CABLE HOLDER FOR ACE STEM 110 MM WITH SCREW M4X12 1

15 KD120222023 CABLE HOLDER FOR ACE STEM 120 MM WITH SCREW M4X12 1

16 KD120222024 FACE PLATE WITH SCREWS 2XM5X18 1

POS PART # PART NAME QTY
1 ACROS PART ACROS TOP CAP WITH THE SCREW 1

2 KD120421027 EXPANDER 70 MM X Ø 22,5 MM 1
3 ACROS PART ACROS TOP CAP IS52/OD62 1

4 ACROS PART ACROS, AC4052 LOWER BEARING, AC4252 TOP BEARING CABLE 
ROUTING COMPRESSION RING, IPS UPPER, IPS LOWER 1

BIKES
ATLAS  |  PP2105

17 ACROS PART ACROS, AC4052 LOWER BEARING, AC4252 TOP BEARING CABLE 
ROUTING COMPRESSION RING, IPS UPPER, IPS LOWER 1

18 KD120420031 EXPANDER IZALCO MAX XXS-XS, 45 MM X Ø 23,5 MM 1

19 KD120420025 EXPANDER IZALCO MAX S, 62 MM X Ø 23,5 MM 1

20 KD120420026 EXPANDER IZALCO MAX M-XXL, 70 MM X Ø 23,5 MM 1

21 KD120421027 EXPANDER ATLAS C 70 MM X Ø 22,5 MM 1

22 KD120222801 COMPUTER MOUNT SET GARMIN & WAHOO 1

23 KD120222027 GOPRO MOUNT 1

24 KD120222015 BEARING CAP IZALCO G3 "ROUND" 1

25 KD120222016 BEARING CAP ATLAS C 1

BIKES
IZALCO MAX  |  PP1916

ATLAS C  |  PP2208

7

18-21

22

23

16

24
25

10-15
9

17

8

1-6

3 NM

2 NM

5 NM

5 NM

2

3

4

1

STEM / VARIOUS VARIATIONS

EXPLODED DRAWING V2


